Circuit Training Name: Keg
AP Precalculus Review Circuit — No Calculator!
Directions: Begin in cell #1. Show the work necessary to arrive at your answer. You may require a separate

sheet of paper. Search for your answer in one of the other cells and mark that cell #2, then work out the new
problem. Proceed in this manner until you complete the circuit.

#_ 1 Answer: —1

Select values of two functions are given in the table. The functions are either linear, quadratic, or
exponential. Determine the y-intercept of each function and then search for their product.
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# fl Answer: %

Consider the functions f(x) = log,(4x + 5) — log, x, and g(x) = log, x. In the xy — coordinate plane, what
] . . . ,?
are all x-coordinate(s) of the intersection(s) of the graphs of f and g7 ‘Og LAX¥S ) 2-106,_
+s = X*

If there is more than one intersection, search for the product of the x-coordinates. If there is only one,

\

A polynomial function, p, has one real zero and two non-real zeros. The real zero is -2 and one of the non-
real zeros is —3 + 5i. What is the other non-real zero in a + bi form? = 3-§ |

- 3 "S P Y
To advance in the circuit, find the sum of a and b for the non-real zero you found.

search for the x-coordinate of the intersection. 0=n+—-4x-S =S
~ 0 = (x=9)RH)

#_ T (xr Y LXT4) Answer: 58
The function y = x3+2x;4 has a?/gélic—al asymp‘gte atx=_| , a horizontal asymptote aty = -L3 ,
aholeatx=__=1| , an x-intercept of x = ~4 anda y-intercept of y =~ %

e 3
To advance in the circuit, find the product of the five answers. 9
# Iﬁ: Answer: =3
Consider the rational function, q(x) = (x(:i—x)ﬂ) Find the interval (a, b) on which q(x) = 0. _

_xrlxk) Y 4 — AT

To advance in the circuit, search for a. 00 (=x) - T
#_L ) Answer: 3

# “0 Answer: 24/3

Solve the equation sin 26 = cos# for 0 < 8 < 2m. There are multiple answers. Check your answergwith

A polynomial function p is given by p(x) = (x* — x — 2)(x% — 9x). List the zeros of the function.
To advance in the circuit, find the sum of the zeros. ?(Y\) - L‘- a_skx‘q} X Lx-q) Ler-l +tOot

your teacher and then advance to the answer choice —=1. 2.§iNn9 =\ or cos 9d=0 0= = St |y 3m
28infcos0 = 059 9=T T 0=F p L2
#_ & Answer: oo
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Answer: —oo

The complex number represented by

4 cos (—%) + i(4sin (—%)
has the polar coordinates (r, 8)and the rectangular
coordinates (a, b). Find both representations of the
complex number and then to advance in the circuit,
find the a-coordinate.

=4, 9= -I'.;

a= 4'_4:2 =|7,J'5| b'-:‘\'-:_'_:_z_
2 r

Answer: 1

#_ \7

The piecewise function, f, consisting of three line
segments is shown.

o
o

(57 _3)

A

The function, g, not pictured, is the inverse of f.
What is the minimum value of g?

Domain of €= Range of 9

# S Answer: 10 | # 3 JA Answer: —8
o
V4
Consider the function f(x) = e*. As x decreases lim (=0.5x7 + 6x° — 12x* +x) = P
without bound, f(x) tends towards __ Q. T
neg. H

# 4 U(Qiﬂlx ¥ 6051'%3-" b Answer: -2 | # 10 Answer: 5
Let g(x) = 6sin®x + In/x + 6cos?x + tan (i—:x) ) What is the period of h(t) = 4sin (g t) +57?

gle) = btinfe rmnt‘-‘—{j w_
What is g(e)? _ n n N T <
# lé Answer: =2 | # _\p Answer: O

The expression 6log Vx + 5logi can be written as
logx®y?. What are the values of a and b ?

|ogb(l’)b + log Q,")S

-

To advance in the circuit, find the sum of a and b.

a-$=-3

The function g(x) = 6 - 72* + 5 - 49% can be written
in the form g(x) = a - b*.

The value of a is “ and the value of b is ifl .

L-49" +5.49% = W- 49"
49-1| =3%

To advance in the circuit, find b — a.

# W\

What is the minimum value of h(t) = 4 sin (gt) +5?

Answer: 6

G-4= |
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